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（１） ＝
１

（２５ １） （２５＋１）
＋

１

（２７ １） （２７＋１）
＋

１

（２９ １） （２９＋１）
＋

１

（３１ １） （３１＋１）
＋     

１

（３３ １） （３３＋１）
＋

１

（３５ １） （３５＋１）
 

＝
１

２４ ２６
＋

１

２６ ２８
＋

１

２８ ３０
＋

１

３０ ３２
＋

１

３２ ３４
＋

１

３４ ３６
 

＝
１

２
×

１

２４

１

２６
＋

１

２６

１

２８
＋

１

２８

１

３０
＋

１

３０

１

３２
＋

１

３２

１

３４
＋

１

３４

１

３６
 

＝
１

２
×

１

２４

１

３６
 

＝
１

１４４
・・・（答） 

 

 

（２） ＝
１

２
×

１

１ ２

１

２ ３
＋

１

２ ３

１

３ ４
＋

１

３ ４

１

４ ５
＋

１

４ ５

１

５ ６
＋

１

５ ６

１

６ ７
＋

１

６ ７

１

７ ８
×

１

３
８ ９ １０－７ ８ ９ ＋ ９ １０ １１－８ ９

１０ ＋ １０ １１ １２－９ １０ １１ ＋ １１ １２ １３－１０ １１

１２ ＋ １２ １３ １４－１１ １２ １３  

＝
１

２

１

２

１

５６
×
１

３
１２ １３ １４ ７ ８ ９  
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＝
１

２
×
２７

５６

１

３
１２ １４ （１３ ３） 

＝１３５・・・（答） 

 


